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The Weak Weimar Republic

Focus: The Weimar Republic was the name of Germany’s government after WWI. It was a failure. It could not solve the problems Germany faced after the war.  The people wanted a change and they wanted order.  They allowed Hitler to come to power because he offered that change and that order.

Where did it come from?

· Right before the war ended Kaiser William II abdicated

· Moderate leaders signed the armistice and Treaty of Versailles

· Those same people in 1919 drafted a constitution in the city of Weimar1


· This creates a democratic government known as the Weimar Republic2
· Parliament known as the Reichstag3
· A Prime Minister who is called a chancellor4
· Women and men can vote5
· Bill of rights6
The Weimar Republic faces four problems7 it fails to solve.



It was responsible for signing the signing the Treaty of Versailles25











$33 billion in war reparations.


Less then 100,000 troops


Demilitarized Rhineland





Problem #2: Hyper- Inflation12


1923 when Germany fell behind in reparation payments, France occupies the coal rich Ruhr Valley13.  


Ruhr Germans are ordered to passively resist14


To support them, the government printed15 huge amounts of money


Hyperinflation16


German mark becomes worthless17


Salaries rose by billions18 of marks, but could not keep up


By November 1923 it was $200 Billion19 to buy a loaf of bread


People’s life savings were worthless worthless20.





Problem 3:  Recovery and then another fall


By 1924, with the help of U.S., Germany recovers21.


Germany reduced22 reparation payments


France left the Ruhr23


But then the Great Depression24 hits and unemployment goes up again





Problem #1:  Political Fighting8


Germany is made up of many different9 political parties


They can’t agree10 on how to fix things


Government is paralyzed11.








